Magpie Bath

WHOLESALE PRICE LIST



WWW.MAGPIEBATH.COM

MAGPIE BATH LOVES TO WHOLESALE!

WHETHER YOU WANT TO SELL OUR PRODUCTS, BUY BULK FOR YOURSELF, OR HAVE CUSTOM BRANDING FOR YOUR OWN BUSINESS NEEDS, MAGPIE CAN HELP.

WITH AN EXTENSIVE LIST OF SCENTS TO CHOOSE FROM, WE CAN CREATE ALMOST ANYTHING

OUR PRODUCTS ARE ALL VEGAN AND CRUELTY FREE, AND NEVER ANIMAL TESTED.

OUR BATH BOMBS ARE SAFE FOR KIDS (AND EVEN SOME PETS).

WE USE INGREDIENTS THAT ARE AS NATURAL AS POSSIBLE, AND CHOOSE ONLY FRAGRANCES THAT ARE PARABEN, SUFLATE AND PHOSPHATE FREE.

THE ENVIRONMENT IS IMPORTANT TO US, SO BIODEGRADABLE SHRINK WRAP IS USED FOR ALL OF OUR BATH BOMBS, AND REUSABLE OR RECYCLABLE PACKAGING WHENEVER POSSIBLE FOR OTHER ITEMS.

QUALITY INGREDIENTS ARE IMPOERTANT TO US, AND WE NEVER USE CHEAP OR UNNECESSARY FILLERS IN OUR BATH BOMBS, LIKE CORN OR WHEAT.

OUR PRICING IS DONE IN BATCHES, WHICH MOST OF THE TIME IS A DOZEN, BUT SOMETIMES MAY BE FEWER.

YOU ARE ABLE TO ORDER LESS THAN ONE BATCH OF ANY OF THE SCENTS WE RETAIL, BUT DEPENDING ON THE QUANTITY WHOLESALE PRICING MAY OR MAY NOT APPLY.

WHEN PURCHASING WHOLESALE, YOU MAY ORDER ANY SCENT/COLOUR YOU LIKE,

AS LONG AS YOU ORDER A FULL BATCH.

WE ALSO OFFER "WHITE LABEL", WHICH IS OUR PRODUCTS WITH YOUR BRANDING, AND CAN OFTEN CREATE FOR YOU NEW PRODUCTS THAT YOU WISH TO SELL.

THE FOLLOWING PAGES CONTAIN OUR WHOLESALE CATALOG, BUT AS AVAILABLE ITEMS AND PRICING IS SUBJECT TO CHANGE AT ANY TIME YOU MAY VISIT BIT.LY/MAGPIEWHOLESALE FOR AN UP TO DATE LIST.



















RECULTAR SHITH SOMBS

OUR BATH BOMBS COME IN 4 SIZES-

"MINI" (GOLF BALL SIZED)

"SMALLIE" (BILLIARD BALL SIZED)

"REGULAR" (TENNIS BALL SIZED) *MOST COMMON

"LARGE" (SOFTBALL SIZED)











SKULL GATH GOMBS

OUR SKULL BATH BOMBS ARE TWICE THE SIZE OF A REGULAR BATH BOMB.







SOME	BIG BABIES!					
SOME	DIG DADILS:				wholesale	white label
				Regular price	price per	price per
Product		SRP	# in batch	per batch	batch	batch
Skull bat	h bomb	\$10	6	\$60	\$36	\$42

UNICORN HORN BATH BOMBS

UNICORN HORNS ARE ABOUT THE SAME SIZE AS A REGULAR BATH BOMB, AND COME WITH 3 COLOURS AND ECOFRIENDLY, BIODEGRADABLE GLITTER.



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Unicorn Horn Bath Bomb	\$9	12	\$108	\$65	\$76

9EWELRY SURPRISE SHITH SOMBS

THESE CAN BE ORDERED WITH A VARIETY OF
JEWELRY AND IN ANY SCENT YOU WANT, BUT ARE
ONLY AVAILABLE IN THE "REGULAR" OR "LARGE"
SIZE. (THIS IS TO ACCOMMODATE THE FLOATING
PLASTIC BUBBLE THAT THE JEWELRY IS INSIDE OF)



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Jewelry Bath Bombs- Regular	\$16	12	\$192	\$115	\$134
Jewelry Bath Bombs- Large	\$18	8	\$144	\$86	\$101

DONUT BATH BOMBS

THESE HAVE A LAYER OF FIZZING BATH MELT "FROSTING". THEY ALL HAVE ONE SCENT FOR THE BOMB,







AND A COMPLIMENTARY SCENT FOR THE FROSTING.

Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Donut Bath Bomb	\$10.00	12	\$120	\$72	\$84

PAINBOW (LOUD SATH SOMBS

THESE CLOUD SHAPED BATH BOMBS HAVE R
AINBOW EMBEDS INSIDE, TO CREATE THE MOST
BEAUTIFUL BATH ART.





Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Rainbow Cloud Bath Bomb	\$15.00	8	\$120	\$72	\$84

POOP EMOJI SHITH SOMBS

THESE ARE ALWAYS A HIT WITH THE LITTLE ONES, AND CAN BE DONE IN REALLY ANY COLOUR.



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Poop Emoji Bath Bomb	\$9.00	16	\$144	\$86	\$101

PURORA BATH BOMBS

THESE GIANT STAR BATH BOMBS HAVE COLOURED EMBEDS, THAT MAKE STUNNING BATH ART.



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Aurora Bath Bombs	\$11.00	6	\$66	\$40	\$46

PRETZEL SATH SOMBS

TRADITIONALLY SCENTED IN "FRESH BAKED BREAD" AND TOPPED WITH HIMALAYAN SEA SALT.



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Pretzel Bath Bombs	\$9.00	8	\$72	\$43	\$50

SATH SITS

JARS OF SMALL BATH BOMB BITS, CHOSE UP TO 4 SCENTS PER ORDER. GREAT FOR KIDS, FOOT BATHS, AND BATH ART.



Product	SRP	# in batch		wholesale price per batch	white label price per batch		
Bath Bits	\$25.00	6	\$150	\$90	\$105		

SUBBLE SARS (SOLID SUBBLE SATH)

A SPACE SAVING WAY TO CREATE BUBBLES. NO GIANT PLASTIC CONTAINERS TO STORE, OR RECYCLE.

Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Solid Bubble Bath	\$6.00	10	\$60	\$36	\$42



USED IN THE SHOWER TO RELEASE ESSENTIAL OIL AROMAS INTO THE STEAM. CAN BE MADE WITH FRAGRANCE OIL TOO.

Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch	
Shower Steamers	\$9.00	8	\$72	\$43	\$50	

WHIPPED SOMP

FLUFFY SOAP, FUN TO USE, AND IS ESPECIALLY GREAT FOR SHAVING

Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Whipped Soap	\$15.00	12	\$180	\$108	\$126

SUGAR SCRUB

FULL OF SKIN NOURISHING OILS, AND EXFOLIATING SUGAR.

Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Sugar Scrub	\$15.00	12	\$180	\$108	\$126

EXECUTIFICATION COLUMNITY SINFFERS

A POCKET SIZED SOLUTION TO COME COMMON ISSUES.

Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Essential Oil Inhalers	\$7.00	12	\$84	\$50	\$59



Á	00	th

SHAMPOO PURS & WASSAGERS

SHAMPOO BARS SAVE SPACE IN THE SHOWER, AND ARE MUCH MORE ECO FRIENDLY THAN WATER-FULL SHAMPOO.



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Head Massager	\$7.00	10	\$70	\$42	\$49
Shampoo Bars	\$11.00	6	\$66	\$40	\$46

) EODORANT

MADE WITH NO ALUMINUM



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Deodorant	\$6.00	10	\$60	\$36	\$42

AD BALM

VEGAN LIP BALM CONTAINS NO BEESWAX. MADE WITH ESSENTIAL OILS AND STEVIA.



Product	SRP	# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Vegan Lip Balm	\$6.00	12	\$72	\$43	\$50

SEARD OIL

FULL OF SKIN AND HAIR NOURISHING OILS, AND NO

Product PILLER OR BASE		# in batch	Regular price per batch	wholesale price per batch	white label price per batch
Beard Oil	\$20.00	10	\$200	\$120	\$140

IF YOU DON'T SEE A PRODUCT YOU WANT,
PLEASE ASK US, AS WE MAY STILL BE ABLE
TO CREATE IT FOR YOU!

WE CAN ALSO CREATE OTHER THINGS, LIKE:

HOILDAY SPECIFIC ITEMS,

PRODUCT LINE COLLECTIONS,

GIFT SETS,

5 FREE NAIL POLISH,

HAIR AND BODY OILS,

BATH SALTS,

BATH TEAS,

...AND MUCH MORE.







